




Real Champs-



(1/3) of 570 + (1/8) of 6464 - √81 = ?

1.989
2.799
3.699
4.900
5.NOT



43% of 300 + ¼ × 48 = ?2 - 3

1.12
2.15
3.14
4.11
5.13



14, 28, 56, 98, 196,   224

1.28
2.56
3.98
4.224
5.196



22,   48,   77, 112,   154,   212,   283

1.77
2.154
3.212
4.283
5.NOT



35,   50, 63, 80,   99,   122

1.63
2.80
3.122
4.99
5.50



x2 - 23x + 90 = 0

y2 - 9y - 52 = 0 1.x > y
2.x ≥ y
3.x < y
4.x ≤ y
5.CND or

x = y



2x2 - 3x - 44 = 0

y2 - 8y + 16 = 0 1.x > y
2.x ≥ y
3.x < y
4.x ≤ y
5.CND or

x = y



x2 = 676

y = √676 1.x > y
2.x ≥ y
3.x < y
4.x ≤ y
5.CND or

x = y



The following pie chart shows the distribution of the total population of six cities and 
the table shows the percentage of illiterate population in the city and the ratio of 
boys to girls among Literate population.
निम्िनिखित पाई चार्ट छह शहरों की कुि आबादी के वितरण को दशाटता है और तानिका 
शहर में अनशखित आबादी का प्रनतशत और सािर आबादी के बीच िड़कों और िड़ककयों के 
अिुपात को दशाटती है।

A
18%

B
15%

C
16%

D
20%

E
14%

F
17%

Total = 8.5 lakh

City %illiterate
Boys : 
Girls

A 80 2 : 3

B 75 4 : 1

C 60 5 : 3

D 72 4 : 3

E 65 2 : 5

F 70 8 : 7



Literate boys of city A are by what percent (approx.) more or less than literate girls of 

city F?

शहर A के साक्षर लड़के शहर F की साक्षर लड़ककयों से ककतने प्रकतशत (लगभग) अकिक या कम हैं?

1.38% more
2.35% Less
3.40% Less
4.40% more
5.48% more

A
18%

B
15%

C
16%

D
20%

E
14%

F
17%

Total = 8.5 lakh

City %illiterate B : G

A 80 2 : 3

B 75 4 : 1

C 60 5 : 3

D 72 4 : 3

E 65 2 : 5

F 70 8 : 7



Find the total number of literate girls in the city A, C and E together?

शहर A, C और E में एक साथ साक्षर लड़ककयों की कुल संख्या ज्ञात कीकिये?

1.58510
2.68510
3.68150
4.65810
5.68015

A
18%

B
15%

C
16%

D
20%

E
14%

F
17%

Total = 8.5 lakh

City %illiterate B : G

A 80 2 : 3

B 75 4 : 1

C 60 5 : 3

D 72 4 : 3

E 65 2 : 5

F 70 8 : 7



Among the literate girls of city C , 20% are graduate, 25% are postgraduate, 50% are having master 

degrees. If the remaining girls have PhD degrees, then find the number of girls having PhD degrees?

शहर C की साक्षर लड़ककयों में से, 20% स्नातक हैं, 25% स्नातकोत्तर हैं, 50% के पास मास्टर किग्री ह।ै यकि शेष लड़ककयों के 

पास पीएचिी की किग्री ह,ै तो पीएचिी किग्री रखने वाली लड़ककयों की संख्या ज्ञात कीकिय?े

1.1025
2.2010
3.1030
4.1020
5.1012

A
18%

B
15%

C
16%

D
20%

E
14%

F
17%

Total = 8.5 lakh

City %illiterate B : G

A 80 2 : 3

B 75 4 : 1

C 60 5 : 3

D 72 4 : 3

E 65 2 : 5

F 70 8 : 7



The number of literate boys of city D is what percent of literate population of city E?

शहर D के साक्षर लड़कों की संख्या शहर E की साक्षर िनसंख्या का ककतना प्रकतशत ह?ै

1. 60 15/49%
2. 65 15/49%
3. 68 15/49%
4. 63 15/49%
5. 58 15/49%

A
18%

B
15%

C
16%

D
20%

E
14%

F
17%

Total = 8.5 lakh

City %illiterate B : G

A 80 2 : 3

B 75 4 : 1

C 60 5 : 3

D 72 4 : 3

E 65 2 : 5

F 70 8 : 7



Find the average number of literate population of the given city except city C?

शहर C को छोड़कर किए गए शहर की साक्षर आबािी की औसत संख्या ज्ञात कीकिय?े

1.39010
2.30915
3.39015
4.42015
5.38015

A
18%

B
15%

C
16%

D
20%

E
14%

F
17%

Total = 8.5 lakh

City %illiterate B : G

A 80 2 : 3

B 75 4 : 1

C 60 5 : 3

D 72 4 : 3

E 65 2 : 5

F 70 8 : 7


